ΑΝΤΙΔΡΑΣΕΙΣ ΑΠΛΗΣ ΑΝΤΙΚΑΤΑΣΤΑΣΗΣ

Να συμπληρωθούν όσες από τις παρακάτω χημικές αντιδράσεις είναι δυνατές :

Μg  +    HCl     →     
Zn    +   HCl     →   
Fe     +   HCl     →
Al      +   HCl     →
Ag     +   H2SO4     →
Fe      +   CuSO4         →
Cu       +   NaCl       →


Μg  +  2  HCl     →    MgCl2 + H2  

Zn    +  2 HCl     →    ZnCl2 + H2

Fe     +  2 HCl     →     FeCl2  + H2 

2Al      +   6HCl   →   2 AlCl3 +3 H2

Ag     +   H2SO4     →   X  (Δεν γίνεται)

Fe      +   CuSO4         → FeSO4 +  Cu

Cu       +   NaCl       →   X  (Δεν γίνεται)

